ROofikea

Percentage getallen (ontbrekend getal)

x 60% = 13.8

x30% = 17.7

x 80% = 34.4

x 10% =6

x 90% = 54

x20% = 17.8

x 40% = 32

x 80% = 57.6

x 60% = 40.8

x70% = 13.3

Datum: Score:

x 30% = 19.2

x 30% = 8.1

x 40% = 28

x 10% = 6.6

x70% = 25.2

x20% = 0.4

x 80% = 60.8

x 80% = 77.6

x70% = 9.1

x20% = 12.6
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ORka

Percentage getallen (ontbrekend getal)

Naam:

23 x60% = 13.8

59 x30% = 17.7

43 x 80% = 34.4

60 x 10% = 6

60 x 90% = 54

89 x20% = 17.8

80 x 40% = 32

72 x 80% = 57.6

68 x 60% = 40.8

19 x70% = 13.3

Datum:

64 x30% = 19.2

27 x30% = 8.1

70 x 40% = 28

66 x 10% = 6.6

36 x70% = 25.2

2x20% =04

76 x 80% = 60.8

97 x 80% = 77.6

13 x70% = 9.1

63 x20% = 12.6
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Score:
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